30 JUNE 2022



SHARES - 4240206 - HIN 50830705 MR LAURENCE JEFFREY WILSON + MRS SHERRILYN GAY WILSON <WILSON FAMILY SUPER A/C>

Portfolio	Units	Unit Price	Portfolio Value	% of Portfolio
AKE - ALLKEM LIMITED FPO (ORDINARY FULLY PAID)	5,126	\$10.3100	\$52,849.06	2.33%
APA - APA GROUP STAPLED (FULLY PAID UNITS STAPLED SECURITIES)	2,460	\$11.2700	\$27,724.20	1.22%
BHP - BHP GROUP LIMITED FPO (ORDINARY FULLY PAID)	8,403	\$41.2500	\$346,623.75	15.28%
BIT - BIOTRON LIMITED FPO (ORDINARY FULLY PAID)	25,000	\$0.0610	\$1,525.00	0.07%
BRN - BRAINCHIP LTD FPO (ORDINARY FULLY PAID)	3,700	\$0.8000	\$2,960.00	0.13%
CGC - COSTA GROUP HOLDINGS FPO (ORDINARY FULLY PAID)	2,968	\$2.8600	\$8,488.48	0.37%
CMW - CROMWELL PROP STAPLED (FULLY PAID ORDINARY/UNITS STAPLED SECURITIES)	12,000	\$0.7550	\$9,060.00	0.40%
CPU - COMPUTERSHARE LTD FPO (ORDINARY FULLY PAID)	2,495	\$24.6400	\$61,476.80	2.71%
CSL - CSL LIMITED FPO (ORDINARY FULLY PAID)	1,419	\$269.0600	\$381,796.14	16.83%
FMG - FORTESCUE METALS GRP FPO (ORDINARY FULLY PAID)	1,586	\$17.5300	\$27,802.58	1.23%
IGO - IGO LIMITED FPO (ORDINARY FULLY PAID)	1,000	\$9.9400	\$9,940.00	0.44%
LLC - LENDLEASE GROUP STAPLED (FULLY PAID ORDINARY/UNITS STAPLED SECURITIES)	3,350	\$9.1100	\$30,518.50	1.35%
LYC - LYNAS RARE EARTHS FPO (ORDINARY FULLY PAID)	16,550	\$8.7300	\$144,481.50	6.37%
MGR - MIRVAC GROUP STAPLED (FULLY PAID ORDINARY/UNITS STAPLED SECURITIES)	4,400	\$1.9750	\$8,690.00	0.38%
MIN - MINERAL RESOURCES. FPO (ORDINARY FULLY PAID)	300	\$48.2700	\$14,481.00	0.64%
MQG - MACQUARIE GROUP LTD FPO (ORDINARY FULLY PAID)	2,202	\$164.5100	\$362,251.02	15.97%
NUF - NUFARM LIMITED FPO (ORDINARY FULLY PAID)	2,500	\$5.0900	\$12,725.00	0.56%
ORG - ORIGIN ENERGY FPO (ORDINARY FULLY PAID)	5,105	\$5.7300	\$29,251.65	1.29%
PDN - PALADIN ENERGY LTD FPO (ORDINARY FULLY PAID)	12,092	\$0.5800	\$7,013.36	0.31%
PLS - PILBARA MIN LTD FPO (ORDINARY FULLY PAID)	3,500	\$2.2900	\$8,015.00	0.35%
QUB - QUBE HOLDINGS LTD FPO (ORDINARY FULLY PAID)	9,537	\$2.7300	\$26,036.01	1.15%
RIO - RIO TINTO LIMITED FPO (ORDINARY FULLY PAID)	1,643	\$102.7000	\$168,736.10	7.44%
RMD - RESMED INC CDI 10:1 (CDI 10:1 FOREIGN EXEMPT NYSE)	760	\$30.6900	\$23,324.40	1.03%
S32 - SOUTH32 LIMITED FPO (ORDINARY FULLY PAID)	13,703	\$3.9400	\$53,989.82	2.38%
STO - SANTOS LTD FPO (ORDINARY FULLY PAID)	9,360	\$7.4200	\$69,451.20	3.06%
SVW - SEVEN GROUP HOLDINGS FPO (ORDINARY FULLY PAID)	3,153	\$16.6100	\$52,371.33	2.31%
TLX - TELIX PHARMACEUTICAL FPO (ORDINARY FULLY PAID)	13,380	\$4.5300	\$60,611.40	2.67%
TWE - TREASURY WINE ESTATE FPO (ORDINARY FULLY PAID)	1,555	\$11.3500	\$17,649.25	0.78%
VUK - VIRGIN MONEY UK PLC CDI 1:1 (CDI 1:1 FOREIGN EXEMPT LSE)	4,816	\$2.2100	\$10,643.36	0.47%
WBC - WESTPAC BANKING CORP FPO (ORDINARY FULLY PAID)	620	\$19.5000	\$12,090.00	0.53%
WBT - WEEBIT NANO LTD FPO (ORDINARY FULLY PAID)	3,688	\$2.3800	\$8,777.44	0.39%
WDS - WOODSIDE ENERGY FPO (ORDINARY FULLY PAID)	3,994	\$31.8400	\$127,168.96	5.61%
WES - WESFARMERS LIMITED FPO (ORDINARY FULLY PAID)	1,139	\$41.9100	\$47,735.49	2.10%
		Sub Total	\$2,226,257.80	98.14%





Cash Accounts		Portfolio Value	% of Portfolio
CDIA - 06716711440284		\$42,293.68	1.86%
	TOTAL	\$2,268,551.48	100.00%





This statement only provides information for CDIA accounts that have been designated as the settlement account for your Commonwealth Securities Limited Share Trading account as at 30 June. Please refer to NetBank for interest income from all other CBA accounts.

The interest shown is net of any non-resident or TFN withholding tax (if applicable). Please refer to Netbank for bank fees paid on your designated CDIA settlement account in the financial year.

The total brokerage outlined does not include any rebates you may have received over the financial year. Refer to your transaction statement records for this information.

This report only includes an estimate of dividends paid for holdings held with Commonwealth Securities Limited as at the ex-dividend date. For instance, any dividends paid prior to holdings being transferred to Commonwealth Securities Limited are not included.

This statement is an estimated summary document only and it is not intended to replace any document which contains information that may be required for taxation purposes. You should therefore refer to your CHESS statements, dividend statements, confirmation contract notes and other investment or bank account statements for your records in this regard. This statement may not include information on accounts which have been closed, switched product type, transferred Holder Identification Number (HIN), or switched Participant Identification Number (PID) during the financial year.

This statement is issued by Commonwealth Securities Limited ABN 60 067 254 399 AFSL 238814, a market participant of ASX and Cboe Australia Pty Ltd (formerly Chi-X Australia Pty Limited), a clearing participant of ASX Clear Pty Limited and a settlement participant of ASX Settlement Pty Limited. Commonwealth Securities Limited is a wholly owned but non-guaranteed subsidiary of the Commonwealth Bank of Australia ABN 48 123 123 124 AFSL 234945 ("CBA"). Information contained in this statement is believed to be accurate at the time the statement is generated. CBA and its subsidiaries do not accept any liability for any errors or omissions contained in this statement, or any responsibility for any action taken in reliance on this statement. This document contains general information only and does not take into account your individual objectives, financial and taxation situations or needs. Before acting on the information, consider the appropriateness of your own objectives, needs, financial and taxation situation and, if necessary, seek appropriate independent financial and taxation advice. CBA is not a registered tax (financial) adviser under the Tax Agent Services Act 2009. If there are any errors in this statement, please contact us.

Address: Commonwealth Securities Limited, Locked Bag 22, Australia Square NSW 1215 | Phone: 13 15 19 | Website: www.commsec.com.au

If you are not satisfied with the service or advice you receive from us, you are entitled to complain. We have established procedures to ensure that all enquiries and complaints are properly dealt with. Please refer to our Financial Services Guide for more information. If an issue has not been resolved to your satisfaction, you can lodge a complaint with the Australian Financial Complaints Authority. AFCA provides fair and independent financial services complaint resolution that is free to consumers. Website: www.afca.org.au, Telephone: 1800 931 678 (free call), Email: info@afca.org.au, In writing to: Australian Financial Complaints

30 JUNE 2022



GLOSSARY

Units The number of registered securities that you own.

Unit Price The Portfolio Valuation 'Unit Price' is calculated using a 'Reference' Price provided by the ASX which takes into account an adjustment to determine value at Close of

Market if the Security does not trade in the Closing Single Price Auction on the Valuation Date.

Brokerage The fee or charge that is paid by you when transacting a buy or sell.

Holder Identification Number (HIN) When you are CHESS sponsored with a Broker you will be issued a unique number, called a HIN. Multiple holdings can be registered under the single HIN. A HIN starts

with the letter X and usually followed by 10 numbers, e.g. X0001234567

A dividend is a payment made to shareholders from the company. This payment is a portion of the company's profits. ASX listed companies typically pay dividends twice

a year, usually as an 'interim' dividend and a 'final dividend'. From time to time, a company may also pay a 'special' dividend.

The ex-dividend date occurs two business days before the company's Record Date. To be entitled to a dividend a shareholder must have purchased the shares before the ex-dividend date. If you purchase shares on or after that date, the previous owner of the shares (and not you) is entitled to the dividend. Ex-dividend date

Interim dividend A dividend paid during the year, usually accompanying a company's interim financial statements.

A dividend paid at the end of a company's financial year, representing a return based on the previous twelve months' financial performance and the future outlook.

Special dividend A dividend paid by the company outside typical recurring (interim and final) dividend cycle.

The record date is the date the share registries use in determining who is entitled to a dividend or entitlement associated with a security. Those who held the security in Record date

the company and were on the register on the record date are eligible for the entitlement.

Payment date The date on which a declared dividend is scheduled to be paid.

Unfranked dividend Dividends which do not carry a franking credit.

Franked dividend Franked dividends are paid to security holders out of profits on which the company has already paid tax.

Franking /Imputation Credit A franking credit is your share of tax paid by a company on the profits from which your dividend is paid. They are also known as Imputation Credits.

Total subscription Total subscription can include, but is not limited to market data and research subscription fees and share trade alerts.

Other fees can include, but are not limited to: Off market transfer fees, conditional trading fees, rejection fees, early and late settlement fees, fail fees, SRN query,

rebooking fees, cheque payment fee or cheque dishonour fees and the printing and posting of contract notes.

Corporate action (CA) Any action initiated by the company or corporation, for the purpose of giving an entitlement to shareholders.